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Topic: Sequences and series 

Section 1 

http://www.oxbridgemind.co.uk/
https://oxbridgemind.co.uk/test-tuition/engaa-tutors/


ENGAA S1 2020 - Question 28

ENGAA S1 2020 - Question 28 - Worked Solution 202402 202
14398𝑛2398 398 14−604

 

Answer is A 

 750        = −  )(50        =  ))× (−99++(50         =  )100+ 𝑢1𝑢(=100𝑆  𝑎 =  𝑑 = −  𝑑590𝑎 +20=50−  𝑑190𝑎 +20=50  )𝑑192𝑎 +(−)𝑑39𝑎 + 𝑎 +(=50= −20−90𝑆  )𝑑19𝑎 + 𝑎 +(=50=20𝑆 
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ENGAA S1 2020 - Question 32

ENGAA S1 2020 - Question 32 - Worked Solution 

121281 − 12 81 − (− 12) 2
  

Answer is E 

 √16=√−√=∞−−  𝑆∞+𝑆
 √𝑟 = ±

 =2𝑟  2   . 𝑟14 = 𝑢  4   .  𝑟12 = 𝑢 
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ENGAA S1 2018 - Question 25

ENGAA S1 2018 - Question 25 - Worked Solution 

𝑈𝑛 = 5𝑛2 5

𝑝 − 𝑞𝑝 + 𝑞 82
  

Answer is G. 

 = 4=  𝑝 = 5 , 𝑞 = −3 − 32𝑛= 5𝑛𝑈 

-3 -3 -3 -3 -3  

125  80 45 205 
2 

nS

122  77 42 172  nU

 + 𝑐𝑜𝑛𝑠 

 

   

 

 

http://www.oxbridgemind.co.uk/


ENGAA S1 2018 - Question 37

ENGAA S1 2018 - Question 37 - Worked Solution 

52
  

Answer is E. 

 11=  = 6 + 5  = 𝑎 + 2𝑑3𝑈  𝑑 =  2𝑑 − 6 = −1 𝑎 = 6  −5𝑎 + 6𝑎 = 6  6②- ① 
 2𝑑 − 𝑎 = −1    ②  𝑑 = 2𝑎 + 8𝑑 − 110𝑎 +  − 15= 2𝑈11𝑈  𝑑 − 5𝑎 = 0    ①12  𝑑 = 6𝑎12𝑎 +  = 6𝑎1𝑑 = 6𝑈12= 𝑎 +13𝑈  𝑑)𝑛 − 1(= 𝑎 +𝑛𝑈For arithmetic progression: 
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ENGAA S1 2018 - Question 39

ENGAA S1 2018 - Question 39 - Worked Solution 

𝑈2𝑈1 𝑈3𝑈22𝑝 + 2𝑝 − 2 5𝑝 + 142𝑝 + 2

2𝑝 + 12𝑝 − 2

  

Answer is B. 

 486      =  
4      = 6 × 3  

4× 3)𝑝 − 2(      =  4= 𝑎𝑟5𝑈  𝑟 = 3  𝑟 =  𝑝 = 8  )> 0𝑛𝑏𝑢𝑡  𝑈( − 6     𝑜𝑟      = 6   = 𝑝 − 21𝑈   𝑝 = −4𝑜𝑟𝑝 = 8  = 032− 4𝑝 −2𝑝  28𝑝 −10𝑝 −14+2+ 4 + 8𝑝 = 5𝑝24𝑝  )𝑝 − 2)(145𝑝 +(=2)2𝑝 + 2(  =  = 𝑟=  )𝑝 − 2(= 𝑎 =1𝑈  𝑛−1= 𝑎𝑟𝑛𝑈Geometric progression: 
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ENGAA S1 2017 - Question 45

ENGAA S1 2017 - Question 45 - Worked Solution 

12 𝑎1 − 𝑟 431412 1412𝜋6 5𝜋6 136 176𝜋12 5𝜋12 1312 1712
  

Answer is A 

 𝜋𝜋 , , ,𝑥 =  𝜋𝜋 , , ,2𝑥 =   =)2𝑥(𝑠𝑖𝑛 𝑠𝑖𝑛   =)2𝑥(𝑠𝑖𝑛 𝑠𝑖𝑛  = 𝑟  )1 − 𝑟(3 = 4  ==∞𝑆   )2𝑥(𝑠𝑖𝑛 𝑠𝑖𝑛 𝑎 = 1 , 𝑟 =  𝑛−1= 𝑎𝑟𝑛𝑈 

 

 

 

  

 

http://www.oxbridgemind.co.uk/


ENGAA S1 2017 - Question 47

ENGAA S1 2017 - Question 47 - Worked Solution 

  

Answer is C 

                                       = −1  = 2 − 1 + 5 − 74+ 𝑢3+ 𝑢2+ 𝑢1𝑢  = 53𝑢  = −12𝑢Clearly p = -2 is a solution: 

 Find real solution by trying p =1 , p = 2 …
 = 010+ 3𝑝 +2+ 3𝑝32𝑝        = −7  + 3𝑝 + 32+ 3𝑝3      = 2𝑝  + 3)+ 3𝑝 + 322𝑝(= 𝑝4𝑢  + 3𝑝 + 32      = 2𝑝  + 3)2𝑝 + 3(= 𝑝3𝑢  = 2𝑝 + 32𝑢  = 21𝑢 
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ENGAA S1 2016 - Question 33

ENGAA S1 2016 - Question 33 - Worked Solution 

1414)14
22𝑎1 − 𝑟 22

 

Answer is C 

 )√= 8(2 +∞𝑆  √+ 816=∞𝑆  =∞𝑆  
√𝑟 =  𝑟 = (

 =4𝑟  = 248𝑟  𝑟 > 0 , 𝑟 ∈ 𝑅 = 24𝑎𝑟  𝑎 = 8 
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